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Applied Math: Order of Operations DAY TWO
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1) 53 -33
v e

3) —4~/6 - /6 A
AP

5y =327 =337 =327

[~;Z7f?> |
7) <245 - 3720 - 2/6
AG

S5 ()2

“[ﬁ'\f "b\@ "a(‘;

9) —=3v-3 +23162 + 381

@ &3
335+ +933
I —\3/;25—435+2‘3/;;\£+2\3/i—6—

v @? @z

%5 45 + L, I5 +432
25205 +L?§E/

2) 24/8 -8

2

4) =35 +2+/5
F&)

6) -3v12 + 33 + 3420

3 &
b 35 NS

\/__i

8) —3V3 - ;%/192 - /320
(5]

3 5
- TN S
| 4
145 -2 45/

10) 453 +2¥32 - 3\2@%@2 2192

o)Z 3 @3
13 1447 - Y3 —4Y3

giﬁ 7 L)ﬂfi\
12) 236 - V6 + 36 - 33384

b
230 - Yo +33(G — L L
5

=3[ =7kle




13) V3 ‘c"n 20

o

-~z =[- Ao

15) V6 -2 @
Y1243 :

ge

~< N\

17) 3
a3 <9/is

Simplify each expression.
19) 9x+9-1

M +8
2

21) -9 -6(-v+5)
-9 +bv -30
— 39+l

23) 1+4(2-3%k)
=K
9. =jaK
25) 7(1 +9v) — 8(~5v - 6)
T +0L3V +Y0v +YE

[103v + 55/

wREAL
27) -2-6x-9)-4(x+9)
12X +IF —Yx =3l

sX 1%

14) Vs .-
i

16) V3.9

el [

Y %
18) 4v15(-3v6 +5)
— 125 T 20\

)0

[~ 37O +320 IS /

20) 101 —4n =

bn

Y
22) —10(-8x +9) — 8x

oY -F0 -&X
{72x f70]

24) -8v +6(10 + 6v)

-8V +b0 +3bV

!528\/ +0 0 i
26) ~10(x-7) — 7(x +2)

—IoX +70 <7y - 14
SEIADE
28) 9(7k +8) + 3(k - 10)

3K +72 + 3K -30
' bbK + H2




